POTENCIAS

Ejemplo:
Operacion
Resultado 24
E. | (27-2°):29=2":2"=2"
Solucion Solucién
Calcula utilizando las propiedades de las potencias:
Operacion
23242 = Resultado
A.
Solucion
(78 :73) 7 = Resultado
B.
Solucion
3.52\° (52, - Resultado
c (5°-5%) -(5°5) =
Solucién
2 4
S (_3) .(_3).(_3) = Resultado
Solucion
5, 4P 4 Resultado
GO RCINRCE
Solucion
3 3
[35-9J :[92] = Resultado
F.
Solucion
5
[32 -3] :[34 -32] = Resultado
G.
Solucion
3\V . s\
(a ) .(a ) = Resultado
H.
Solucién
1 4" 5 a 3
— || = Resultado
a a
Solucion
J. 3 373
@ .y a’ - a>
= |4 6 = Resultado
a a
Solucién
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